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2. 0°<x<90° €U, & T 2> A2?
@ 0<cosx<1 @ 0<sinx<1 @ 0<tanx<1

@ -1<tanx<0 B -1<sinx<1
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Fstolel. (W, sin62° = 0.8829,
cos 62 ° = 0.4695, tan 62 ° = 1.8807)
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4.

/C 7} A zFel A Z-ArZ+e ABC oAl AB
(sin B + cos B) (sinA — 1) &] 3127
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2 A ZM7S ABC oA A =34° 4
o, 0] BC € #otH? (T, sin34° =
0.5592, cos 34° = 0.8290 )

@ 20.141cm @ 21.523cm

® 22.368 cm @ 23.694 cm

® 24.194 cm
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7. & OHA AB = Y 0 9 2201 C
/AOC = 120°, /ADC = 90° , AO =

12em & @, AAOC 2] Ho]=? g
120
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D 12V3cm? @ 243cm? 12 cm
® 36 V3cm? @ 48+3cm?
® 60 V3cm?
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® 200 cm? @ 200 V2 cm? 3 200 V3 cm?

@ 2022 cm? 3 2023 cm?
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